
1

)(                          2009/2010  

21-12 -09)2(                             :31+2  

  

  
  

1:)7,5(  

25°CCaCO3(S))H3O
+

(aq) + Cl
-
(aq)(

VS= 100 mL1.10
-1

mol.L
-1

 .t = 0 s2,0 g.  

:  

CaCO3(s)  +  2 H3O
+

(aq) =  Ca
2+

(aq)  +  CO2(g)  +  3 H2O(l)

1-.  

2-) . .(xmax .  

3-xx = f(t)2.  

  

  

  

  

  

  

  

  

  

  

  

  

  -xVS .

.t = 100 s .  

 -  t1/2) ..(  

4-25°C.t = 0 s.2

.  

5-.  

-   .25°C :

(H3O
+
) = 35,0 mS.m

2
.mol

-1
  ,  (Ca

2+
) = 12,0 mS.m

2
.mol

-1
,  (Cl

-
) = 7,5 0 mS.m

2
.mol

-1

 -t = 0 s.  

-x := 4,25 – 580 x  

g.mol
-1

  :M(C) = 12  ,  M(H) = 1  ,  M(O) = 16  ,  M(Ca) = 40
  

  

2:)7,5(  

III.  

I -) (  

1.  

1-)t(f)N(Ln.  

2-LnN0Nt  

)mol(x

)s(t

2



2

3-.  

4-2/1t ). (  

5-2/1t..

6-0Ns0t0m .

0N0m.  

-II

14
-

5700 ans

1979:  

0,251  0,223  0,215  0,233  .  

Bq0,255.  

1-).(  

2-)(

 :M(C) = 12 g/moljours3Fm253
2/1t,jours276Es254

2/1t,jours3,138Po209
2/1t  

  

3:)5(  

E270RLr

YAYB.)5(.  

0t126.  

  
  

  

  

1-E ..  

2-.  

3-.  

4-r  

5-.L.  

6-.  
  
  
  
  

  

  

P

R

E

N B

BY

A

AY

K

5

1 2

6

1

03,34

23,34

160 240 48080

23,35

43,34

63,34

83,34

400320

03,35

Nln

jourst



3

)(  

  

  
  

  

1  

CaCO3(s)     +      2 H3O
+

(aq) =         Ca
2+

(aq)  +      CO2(g)         +      3 H2O(l)    

  
      

  
      

  
        

  

  

  

  

  

  

  

  

  

  

  

2  

  

4  3  2  1    

0,251  0,223  0,215  0,233  )Bq(  

        )Année(  

          

  

3  

  

  

  

  

  

  

  

  

  

  

  

)mol(x

)s(t

2

 + :........................................................  

 :3............  

1 2

6



4

  

3:)5(  

3KE = 5,1VR = 150 C

 .t= 0.  

1-.  

2-4  

  - ..  

   -EuRuC.  

  -uRi.  

  -iqquC .i

uC.  

2-.  

3-

t

C e.1Etu.  

4-
E

uCt = .  

5-C.  

  

  

  

  

  

  

  

3

4


